
ROCAL 20

No. 61100, 061100Z

dated: 08/14

1

www.rothenberger.de


ROCAL 20

No. 61100, 061100Z

dated: 08/14

Item no. Description Article no. Old article no. Quantity Price (€)

1 Metal handle 851900100 8519001 1 o.r.

2 Motor 150W 851900200 8519002 1 o.r.

4 Brass nut 851900400 8519004 4 o.r.

5 Closed nut M16 851900500 8519005 2 o.r.

6 Safety ring 12 DIN471 H98973 8519006 1 o.r.

7 Plastic O-Ring 851900700 8519007 1 o.r.

8 O-ring per turbine 851900800 8519008 1 o.r.

9 M12 screw in PP 851900900 8519009 4 o.r.

10 Flange and pump housing 851901000 8519010 1 o.r.

12 Protective hose 851901200 8519012 1 o.r.

13 Turbine ROCAL 20 851901300 8519013 1 o.r.

14 Plastic protective hood 851901400 8519014 1 o.r.

15 Turbine stopper 851901500 8519015 1 o.r.

17 M8 screw in PP 851901700 8519017 5 o.r.

18 M6 screw 851901800 8519018 1 o.r.

19 Tank ROCAL 20 851901900 8519019 1 o.r.

20 O-ring per M12 screw 851902000 8519020 4 o.r.

23 Tank cover plug 851902300 8519023 1 o.r.

24 O-ring per motor flange 851902400 8519024 1 o.r.

26 O-ring per turbine plug 851902600 8519026 1 o.r.

27 Rubber seal 851902700 8519027 4 o.r.

30 Transparent hose (Set 2 Pcs.) 851903000 8519030 1 o.r.

31 Screw ¾“ 851903100 8519031 2 o.r.

33 O-ring per screw M6 851903300 8519033 1 o.r.

45 O-ring 851904500 8519045 1 o.r.

47 ¾” connection 851904700 8519047 2 o.r.

64 Elbow ¾“ 851906400 8519064 2 o.r.

70 Screen cover 851907000 8519070 1 o.r.

71 fan wheel 851907100 8519071 1 o.r.

72 Leakproof bushing 851907200 8519072 1 o.r.

73 Switch 851907300 8519073 1 o.r.

74 Motor flange 851907400 8519074 1 o.r.

90 Reduction kit 851909000 8519090 1 o.r.

91 Terminal connections 851909100 8519091 2 o.r.

IMPORTANT! To assure safety and reliability, repairs, maintencance and adjustment must be preformed by ROTHENBERGER

Kelkheim or authorized Service-Centers. Always use Original-Service-Parts. Order your accessories and spare parts

from your specialist retailer or using our Service After Sales hotline

Tel. +49 6195 - 800 8200 

Fax: +49 6195 - 800 7491 

  service@rothenberger.com

Powered by TCPDF (www.tcpdf.org)

2

mailto: service@rothenberger.com 
http://www.tcpdf.org
www.rothenberger.de

